
 
 REGAN YOUNG ENGLAND BUTERA 
 
 REFERENDUMS •  ENGINEERING • ARCHITECTURE  • DESIGN 

 
 

456 HIGH ST. • MT. HOLLY, NJ 08060 USA 
(609) 265-2652 • 21AI00912100 • www.RYEBREAD.com 

 
 
 

ADDENDUM - 01 
 

DATE: ..................... Monday, 20 March 2023 

FROM: ........................ Angelo P. Butera, AIA 

VIA: ................................................... Facsimile 

 
  

 
 
 
 
 

SUBJECT: 
RYEB Project #5718A 
Salem City BOE 
SALEM HIGH SCHOOL STADIUM 
NJDOE SP#:  4630-050-23-1000 

 
This addendum is issued to clarify, correct or supplement the Documents as originally issued and will 
become a part of the Contract.  Receipt thereof shall be acknowledged by Bidders in space provided in the 
Form of Bid.  Failure to acknowledge this Addendum on the official Form of Bid may be cause for 
rejection of Bid. 
 
 
1.01. CLARIFICATION:  Section 002000 - Form of Bid, Bidder shall correlate all required 

documents in the order listed in the “Documents Accompanying Bid” as found on the Form of 
Bid and place an “X” in the box next to each item provided.  Failure to provide all required 
documents and required number of copies may be cause for disqualification and rejection of bid. 

1.02. REPLACE: “Applicable List of Codes” as found on Sht CS w/ the following: 

 
  

UCC SUBCODES  
 
 
The following subcodes as adopted by the New Jersey Uniform Construction Code 
(NJAC 5:23 et seq.), shall apply to this Project. 
 
SUBCODE NATIONAL MODEL CODE UCC REFERENCE 
 
Building International Building Code NJ Ed/2021 NJAC 5:23-3.14 
 
Plumbing National Standard Plumbing Code/2021 NJAC 5:23-3.15 
 
Electrical National Electrical Code (NFPA 70)/2020 NJAC 5:23-3.16 
 
Energy ASHRAE 90.1-2019 (Comm) NJAC 5:23-3.18 
 
Mechanical International Mechanical Code/2021 NJAC 5:23-3.20 
  
Fuel Gas International Fuel Gas Code/2021 NJAC 5:23-3.22 
 
Rehabilitation Subcode NJUCC, Subchapter 6 NJAC 5:23-6 
 
Barrier-Free Barrier-Free Subcode Chapter 11 of IBC/2021 
 & ICC/ANSI A117.1-2017  & NJAC 5:23-7 



Addendum 01  2 of 2 
#5718A 
SCHS Stadium 
 
 

1.03. CLARIFICATION: Sht CS1000, Scoreboard is Nevco Model 3621. Nevco is responsible for 
installation of scoreboard foundations. The general contractor is responsible for the excavation 
for foundations and backfill after foundations are installed. GC to coordinate with Nevco. 

1.04. CLARIFICATION: Sht CS1000, Bleacher foundations shall be provided by the GC. GC shall 
coordinate with Southern Bleachers (provider the bleachers & press box) and their engineer to 
set the top of foundation elevation. Refer to Southern Bleacher drawing 12 for visitor bleacher 
foundation design and drawings 5 and 5A for home bleacher foundation design. 

1.05. ADD: The following note to Sht CS0002: 

G-27: Existing track shall be protected w/ two (2) layers of 3/4” plywood prior to running any 
equipment across track. Do not leave equipment or store materials on track. Do not turn 
equipment on track. Do not drive equipment across drains. 

1.06. CHANGE: Grinder Pump Alarm Detail note on Sht CS6051, from ”Mount alarm panel to 
exterior wall with stainless steel fasteners; see plumbing plans for location" to ”Mount alarm 
panel to exterior wall with stainless steel fasteners; See electrical plans for location and 
circuiting”. 

1.07. DELETE: HDPE Pipe Detail from Sht CS6051 in its entirety. 

1.08. ADD: The attached Bleacher Dwgs consisting of 18 shts. 

1.09. The list of current plan holders and addenda can be found at www.ryebread.com under the 
“Bidding” tab. 

 
Including this page, Addendum 01 consists of (20) page(s). 
 
 
END OF ADDENDUM 01 



GRANDSTANDS   BLEACHERS   STADIUMS

BLEACHER COMPANY

SALEM CITY SCHOOL DISTRICT 

DATE: 02/03/2023

HOME & VISITOR BLEACHERS 
SALEM, NEW JERSEY 

Established 1946

PO Box One, Graham, Texas 76450

Fax: 940/549-1365
801 Fifth Street.

Phone: 940/549-0733 R

SALEM CITY SCHOOL DISTRICT
HOME & VISITOR BLEACHERS

SALEM, NEW JERSEY

#
22

46
2

S
A

LE
M

, N
E

W
 J

E
R

S
E

Y

#22462JOB

 - 

A
IS

C CERTIFIED
FABRICATORAM

ER
IC

A N
 I

NST I T UT E  OF  ST E E L  CONSTRUCT
ION

F O U N D E D  1 9 2 1

GENERAL NOTES & SITE CONDITIONS

1. ALL DIMENSION PERTAINING TO GRANDSTAND AND SITE CONDITIONS/OBJECTS TO BE FIELD
 VERIFIED OR LOCATED PRIOR TO FABRICATION.

TO A.S.T.M.  A-123-89 ae1.

A529-50, OR A500 GRADE B.
A36/A572 GRADE 50, A572 GRADE 50,
FOLLOWING ASTM SPECIFICATIONS: A36,

ALL STEEL TO BE HOT DIPPED GALVANIZED

TREAD & SEAT AREA 100psf UNIFORM LIVE LOAD.
SEAT (VERTICAL) 120 lbs/lf.
SEAT (HORIZONTAL SWAY) 24lbs/lf PARALLEL AND

HANDRAIL & GUARDRAIL 200 lbs CONCENTRATED IN ANY DIRECTION.

STRUCTURAL SHAPES MEET ONE OF THE

WELDS ARE ALL AROUND WITH TYPE ER70S-6

STRUCTURAL BOLTS ARE HOT DIPPED GALV. AND 

HANDRAIL & GUARDRAIL 50 lbs/lf IN ANY DIRECTION AT THE TOP.

ARE EQUAL TO OR GREATER THAN A-307.
NO CONNECTIONS UTILIZING HIGH STRENGTH

BOLTS ARE CLASSED AS SLIP CRITICAL.

WIRE MIG.

5

4

3

NOTES

2

1

DESIGN LOADING

PIPE SIZE. (1 5/8" O.D.)
ANODIZED ALUMINUM RAIL IS 1 1/4" NOMINAL6

7

GROUND SNOW LOADS: 20psf

    10lbs/lf PERPENDICULAR TO SEAT. OWNER/REPRESENTATIVE/ARCHITECTURAL REVIEW

PLEASE REVIEW THE DRAWINGS FOR COMPLIANCE WITH YOUR
ORDER. PLEASE INDICATE ANY CHANGES
OR COMMENTS ON THE DRAWINGS.

APPROVED

APPROVED AS NOTED

REVISE AND RE-SUBMIT

SIGNATURE

TITLE

DATE

SOUTHERN BLEACHER COMPANY AS A
MANUFACTURER AND INSTALLER OF
GRANDSTAND SEATING IS NOT AUTHORIZED
TO CERTIFY PLANS AS ADA COMPLIANT.
HOWEVER, TO THE BEST OF OUR KNOWLEDGE
THESE PLANS MEET OR EXCEED ADA
REQUIREMENTS FOR QUANTITY OF ADA SEATING,
ACCESS/EGRESS TO ADA SEATING, & DISPERSAL
OF ADA SEATING.

TREAD - STAIR AND AISLE TREADS - MINIMUM CONCENTRATED LOAD OF
      300LBS ON AN AREA OF 4 SQUARE INCHES

GUARDS, INFILL COMPONENTS - 50LBS PER SQFT IN HORIZONTAL DIRECTION 

2018 INTERNATIONAL BUILDING CODE

RISK CATEGORY = III
WIND EXPOSURE = C
BASIC WIND SPEED = 123 MPH

SEISMIC DESIGN DATA:
SEISMIC DESIGN CATEGORY = B

WIND LOADS:

SHEET TITLE SHEET NUMBER

SITE CLASS D
SDS = 0.175
SD1 = 0.072

SECTION VIEW - HOME SHEET #1

SHEET #3
SEATING LAYOUT - HOME SHEET #4
SEAT BRACKET LAYOUT - HOME  SHEET #4

SIGHT LINES - HOME

RISE:

ROWS:

LENGTH:

TREAD:

SEAT COUNT:

 HOME BLEACHER:

10

186'-0"

12"

24"

GENERAL INFORMATION

1033

SHEET #5FOOTING LAYOUT - HOME 
SHEET #5UNDERSTRUCTURE LAYOUT - HOME 

SHEET #2SECTION VIEW - HOME

SHEET #7
RAMP DETAIL SHEET - HOME SHEET #8
DETAIL SHEET - HOME

RISE:

ROWS:

LENGTH:

TREAD:

SEAT COUNT:

  VISITOR BLEACHER:

8

66'-0"

8"

24"

GENERAL INFORMATION

287

SHEET #5APIER SHEET - HOME

PRESS BOX SHEET - HOME 

SHEET #9
SECTION VIEW - VISITOR SHEET #10
SIGHT LINES - VISITOR SHEET #11
SEATING LAYOUT - VISITOR SHEET #12
FOOTING LAYOUT  - VISITOR SHEET #12
UNDERSTRUCTURE LAYOUT - VISITOR SHEET #13
ELEVATION VIEW - VISITOR SHEET #13

RAMP DETAIL SHEET - VISITOR SHEET #14
DETAIL SHEET - VISITOR SHEET #15

GRADE BEAM DETAIL SHEET #13A

SHEET #6ELEVATION VIEW - HOME 02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

X

Tim Gardner                       02-08-23

Note:
1.Southern Bleacher Co; indicated that the press box electrical
coordination (with Nevco Scoreboard, cameras, etc.) will take place
after the PAI review of the bleacher shop drawings.  PAI will need to
review the final press box electrical coordination when completed by
Southern.

2. Concrete foundations shall be installed below frost level.  



1

6'-2"

10

4'
-0

"
3'

-6
"

6'-0" 15'-0"

2

3

4

5

6

7

8

9

DBL. L2X2X3/16 STRUT
@ ALL "A" ROW PIERS

11

3
14

8

11

10

16

4'-1"

1

15

15
2

9

1'
-0

"

2'-0"

5

12

13

5

12

13

3"

11" 3"

A B

SCALE:3/8"=1'-0"
SECTION VIEW 1

1

PAINTED
FLAT RISER FACADE

(COLOR: BY OWNER)

NOTES
ALL STRUCTURAL AND MISCELLANEOUS STEEL SHALL
CONFORM TO THE FOLLOWING A.I.S.C. STANDARDS
   PLATE UP TO 1/2" THICK = A36 Gr. 36 Fy = 36 ksi Min.
   PLATE 5/8 and greater = 572  Gr 50, Fy = 50 ksi Min.
   ANGLE = A36/A36M GRADE 50
   WIDE FLANGE = A992 Fy=50 ksi
   CHANNEL = A36/A36M GRADE 50
   ROD = A36/A529 GRADE 50
   TUBE = A500 GRADE "B" 46 ksi
WELDS ARE ALL AROUND WITH TYPE ER70S-6
   WIRE MIG.
ALL STEEL TO BE HOT DIPPED GALVANIZED
   TO A.S.T.M.  A-123-89 ae1.
STRUCTURAL BOLTS ARE HOT DIPPED GALV. AND
   ARE EQUAL TO OR GREATER THAN A-307.
NO CONNECTIONS UTILIZING HIGH STRENGTH
   BOLTS ARE CLASSED AS SLIP CRITICAL.
ANODIZED ALUMINUM RAIL IS 1 1/4" NOMINAL
   PIPE SIZE. (1 5/8" O.D.)
SOUTHERN BLEACHER COMPANY AS A MANUFACTURER AND
INSTALLER OF GRANDSTAND SEATING IS NOT AUTHORIZED
TO CERTIFY PLANS AS ADA COMPLIANT. HOWEVER, TO THE
BEST OF OUR KNOWLEDGE THESE PLANS MEET OR EXCEED
ADA REQUIREMENTS FOR QUANTITY OF ADA SEATING,
ACCESS/EGRESS TO ADA SEATING, & DISPERSAL OF ADA SEATING.

ALL FIELD CONNECTIONS ARE NON-SLIP CRITICAL U.N.O. ALL
CONNECTIONS ARE DESIGNED TO UTILIZE A307 BOLTS, IT IS
ACCEPTABLE TO USE A325N BOLTS IN LIEU OF THE A307 BOLTS.
THE INSTALLATION OF THESE BOLTS ARE TO BE TIGHTENED A SNUG
TIGHT CONDITION AS SPECIFIED BY AISC.

1

2

3

4

5

6

7

8

ANODIZED ALUMINUM RAIL (SEE NOTES)

3/4 X REQ'D LENGTH SWAY ROD (50 ksi)

3/8 GUSSET PLATE (A36)

6 GAUGE BLACK VINYL CHAINLINK FENCE

3/4 X 18 ANCHOR BOLT W/2 HEX HEAD NUTS & FLAT WASHER

6 X 8 X 3/8 PLATE

12 X 12 X 5/8 PLATE

9

11

12

10

8

7

6

W 14 X 26 (50 ksi)

L 2 X 2 X 3/16 (50 ksi)

L 3 X 3 X 1/4 (50 ksi)

W 6 X 20 (50 ksi)

W 14 X 30 (50 ksi)

L 2 X 1 1/2 X 3/16 (50 ksi)

5

4

3

2

1

ITEM DESCRIPTION

1/4 GUSSET PLATE (A36)

W 10 X 12 (50 ksi)

13

14

15

1

8'-2"

4'
-0

"
3'

-6
"

6'-0"

2

3

DBL. L2X2X3/16 STRUT
@ ALL "A" ROW PIERS

11

1

5

12

13

3"

A

SCALE:3/8"=1'-0"
W/C AREA DETAIL2

1

3
16" GALV.
PLATE

L2X2X3/16
ROLLOVER ANGLE TYP.

PAINTED
FLAT RISER FACADE

(COLOR: BY OWNER)

NOT TO SCALE
PLANK ARRANGEMENT3

1 12" RISE X 24" TREAD

3
14

15

W 6 X 15 (50 ksi)16

ELEV. 100'-0"

ELEV. 100'-0"

FOOTBOARD WALKING SURFACE SHALL
BE CLASSIFIED AS HIGH TRACTION
 COATED (TEXTURE GRAY) U.N.O.

TREAD & SEAT AREA 100psf UNIFORM LIVE LOAD.
SEAT (VERTICAL) 120 lbs/lf.
SEAT (HORIZONTAL SWAY) 24lbs/lf PARALLEL AND

HANDRAIL & GUARDRAIL 200 lbs CONCENTRATED IN ANY DIRECTION.
HANDRAIL & GUARDRAIL 50 lbs/lf IN ANY DIRECTION AT THE TOP.

DESIGN LOADING

GROUND SNOW LOADS: 20psf

    10lbs/lf PERPENDICULAR TO SEAT.
TREAD - STAIR AND AISLE TREADS - MINIMUM CONCENTRATED LOAD OF
      300LBS ON AN AREA OF 4 SQUARE INCHES

GUARDS, INFILL COMPONENTS - 50LBS PER SQFT IN HORIZONTAL DIRECTION 

2018 INTERNATIONAL BUILDING CODE

RISK CATEGORY = III
WIND EXPOSURE = C
BASIC WIND SPEED = 123 MPH

SEISMIC DESIGN DATA:
SEISMIC DESIGN CATEGORY = B

WIND LOADS:

SITE CLASS D
SDS = 0.175
SD1 = 0.072

13

3'
-0

"

AISLE AREASEATING

A

B

A

B
C D E

E

F

C D E

F

C D E

F

C D

F

G

G

1'
-0

"1'
-5

"

G
HJ

KL

G
HJ

KL

A = 2 X 10 ANODIZED ALUMINUM SEAT

C = 2 X 8 PAINTED ALUMINUM TONGUE & GROOVE 2001 TREAD - NOSE (COLOR: TEXTURED GRAY)

E = 2 X 8 PAINTED ALUMINUM TONGUE & GROOVE 2001 TREAD - HEEL (COLOR: TEXTURED GRAY)
F = 1 X 8 1/2 PAINTED ALUMINUM FLAT RISER (COLOR: BY OWNER)
G = 1 X 1 PAINTED ALUMINUM CONTRASTING NOSING (BLACK)

D = 2 X 8 PAINTED ALUMINUM TONGUE & GROOVE TREAD - DECK(COLOR: TEXTURED GRAY)

B = MILL ALUMINUM SEAT BRACKET

H = 2 X 8 PAINTED ALUM. INTERLOCK HALFSTEP - DECK (COLOR: TEXTURED GRAY)
J = 2 X 4 PAINTED ALUM. INTERLOCK HALFSTEP - NOSE W/RISER (COLOR: TEXTURED GRAY)
K = 4 1/2" MILL ALUMINUM HALFSTEP BRACKET
L = 4 1/2" PAINTED ALUMINUM INTERLOCK STEP RISER (COLOR: BY OWNER)

9 1/2"1'-2 1/2"

2'-0"

T.O.C. ELEV.
101'-9 3/4"

1'
-9

 3
/4

"

T.O.C. ELEV.
100'-5"

1" GROUT

1" GROUT

T.O.C. ELEV.
101'-9 3/4"

1" GROUT

6

7

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

SE
C

TIO
N

 V
IE

W
 - 

HO
M

E

#22462

15

01/31/23 ID-S COX

12
" R

IS
E 

X 
24

" T
RE

A
D

/ 
18

6'
-0

"/
 (1

0 
RO

W
S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

1



1

6'-2"

10

4'
-0

"
3'

-6
"

6'-0" 15'-0"

2

3

4

5

6

7

8

9

DBL. L2X2X3/16 STRUT
@ ALL "A" ROW PIERS

11

8'-5"

1

1'
-0

"

2'-0"

5

12

13

3"

A B

SCALE:3/8"=1'-0"
SECTION VIEW @ PRESS BOX 1

2

NOTES
ALL STRUCTURAL AND MISCELLANEOUS STEEL SHALL
CONFORM TO THE FOLLOWING A.I.S.C. STANDARDS
   PLATE UP TO 1/2" THICK = A36 Gr. 36 Fy = 36 ksi Min.
   PLATE 5/8 and greater = 572  Gr 50, Fy = 50 ksi Min.
   ANGLE = A36/A36M GRADE 50
   WIDE FLANGE = A992 Fy=50 ksi
   CHANNEL = A36/A36M GRADE 50
   ROD = A36/A529 GRADE 50
   TUBE = A500 GRADE "B" 46 ksi
WELDS ARE ALL AROUND WITH TYPE ER70S-6
   WIRE MIG.
ALL STEEL TO BE HOT DIPPED GALVANIZED
   TO A.S.T.M.  A-123-89 ae1.
STRUCTURAL BOLTS ARE HOT DIPPED GALV. AND
   ARE EQUAL TO OR GREATER THAN A-307.
NO CONNECTIONS UTILIZING HIGH STRENGTH
   BOLTS ARE CLASSED AS SLIP CRITICAL.
ANODIZED ALUMINUM RAIL IS 1 1/4" NOMINAL
   PIPE SIZE. (1 5/8" O.D.)
SOUTHERN BLEACHER COMPANY AS A MANUFACTURER AND
INSTALLER OF GRANDSTAND SEATING IS NOT AUTHORIZED
TO CERTIFY PLANS AS ADA COMPLIANT. HOWEVER, TO THE
BEST OF OUR KNOWLEDGE THESE PLANS MEET OR EXCEED
ADA REQUIREMENTS FOR QUANTITY OF ADA SEATING,
ACCESS/EGRESS TO ADA SEATING, & DISPERSAL OF ADA SEATING.

ALL FIELD CONNECTIONS ARE NON-SLIP CRITICAL U.N.O. ALL
CONNECTIONS ARE DESIGNED TO UTILIZE A307 BOLTS, IT IS
ACCEPTABLE TO USE A325N BOLTS IN LIEU OF THE A307 BOLTS.
THE INSTALLATION OF THESE BOLTS ARE TO BE TIGHTENED A SNUG
TIGHT CONDITION AS SPECIFIED BY AISC.

1

2

3

4

5

6

7

8

ANODIZED ALUMINUM RAIL (SEE NOTES)

3/4 X REQ'D LENGTH SWAY ROD (50 ksi)

3/8 GUSSET PLATE (A36)

6 GAUGE BLACK VINYL CHAINLINK FENCE

3/4 X 18 ANCHOR BOLT W/2 HEX HEAD NUTS & FLAT WASHER

6 X 8 X 3/8 PLATE

12 X 12 X 5/8 PLATE

9

11

12

10

8

7

6

W 14 X 26 (50 ksi)

L 2 X 2 X 3/16 (50 ksi)

L 3 X 3 X 1/4 (50 ksi)

W 6 X 20 (50 ksi)

W 14 X 30 (50 ksi)

L 2 X 1 1/2 X 3/16 (50 ksi)

5

4

3

2

1

ITEM DESCRIPTION

1/4 GUSSET PLATE (A36)

W 10 X 12 (50 ksi)

13

14

15

43
 1

/2
"

42
" M

IN
. A

BO
VE

NO
SE

 O
F S

EA
T

ANOD. ALUM.
RAIL (TYP)

GALVANIZED L3X3X1/4
RAIL RISER (TYP)

SE
A

T
HE

IG
HT

6 GAUGE BLACK VINYL
COATED CHAINLINK FENCE

8

11

4

10

17
9

C

L2X2X3/16
ROLLOVER ANGLE TYP.

3'-8"

PAINTED
FLAT RISER FACADE

(COLOR: BY OWNER)

8'-0"

3'
-3

"

SCALE:3/8"=1'-0"
TYPICAL SIDE RAILING2

2

3
14

15

W 6 X 15 (50 ksi)16

11

10

16

15
2

9

W 14 X 22 (50 ksi)17

ELEV. 100'-0"

TREAD & SEAT AREA 100psf UNIFORM LIVE LOAD.
SEAT (VERTICAL) 120 lbs/lf.
SEAT (HORIZONTAL SWAY) 24lbs/lf PARALLEL AND

HANDRAIL & GUARDRAIL 200 lbs CONCENTRATED IN ANY DIRECTION.
HANDRAIL & GUARDRAIL 50 lbs/lf IN ANY DIRECTION AT THE TOP.

DESIGN LOADING

GROUND SNOW LOADS: 20psf

    10lbs/lf PERPENDICULAR TO SEAT.
TREAD - STAIR AND AISLE TREADS - MINIMUM CONCENTRATED LOAD OF
      300LBS ON AN AREA OF 4 SQUARE INCHES

GUARDS, INFILL COMPONENTS - 50LBS PER SQFT IN HORIZONTAL DIRECTION 

2018 INTERNATIONAL BUILDING CODE

RISK CATEGORY = III
WIND EXPOSURE = C
BASIC WIND SPEED = 123 MPH

SEISMIC DESIGN DATA:
SEISMIC DESIGN CATEGORY = B

WIND LOADS:

SITE CLASS D
SDS = 0.175
SD1 = 0.072

T.O.C. ELEV.
101'-9 3/4"

T.O.C. ELEV.
100'-5"1" GROUT

T.O.C. ELEV.
100'-5"

1" GROUT

PAINTED FLAT RISERS @ PRESS BOX
(COLOR: BY OWNER)

8

1" GROUT

1
1

6

7

6

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

SE
C

TIO
N

 V
IE

W
 @

 P
RE

SS
 B

O
X 

- H
O

M
E

#22462

15

01/31/23 ID-S COX

12
" R

IS
E 

X 
24

" T
RE

A
D

/ 
18

6'
-0

"/
 (1

0 
RO

W
S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

2



1

10

2

3

4

5

6

7

8

9

12'-7 3/16"
@ ROW 1

14'-10 5/8"
@ ROW 10

SCALE:3/8"=1'-0"
SIGHT LINES1

3

39'-6 1/4"
@ PRESS BOX

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

SI
G

HT
 L

IN
ES

 - 
HO

M
E

#22462

15

01/31/23 ID-S COX

12
" R

IS
E 

X 
24

" T
RE

A
D

/ 
18

6'
-0

"/
 (1

0 
RO

W
S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

3



31'-6" 4'-6" 31'-6" 4'-6" 31'-6" 4'-6" 33'-0"

186'-0"

3'-9" 33'-0" 4'-6" 3'-9"

SCALE:1/8"=1'-0"
SEATING LAYOUT - HOME

4
1

6'
-2

"

8
3

6'
-2

"

18'-0" 1:12 RAMP 24'-0" 1:12 RAMP

6'-0" PRE-FAB
STARTER RAMP

8
1

4'
-7

"

4'
-7

"

4'
-7

"

SCALE:1/8"=1'-0"
SEAT BRACKET LAYOUT - HOME

4
2

1
1 2

1

8'-0"X30'-0"
PRESS BOX

4'
-7

"

6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 1'-9"1'-9" 6'-0"6'-0"6'-0"6'-0"6'-0"

PAINTED FLAT RISER FACADE
(COLOR: BY OWNER)

5'-8"
TYP.

8
5

3'-0"
TYP.

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

SE
A

TIN
G

/ 
SE

A
T 

BR
A

C
KE

T 
LA

O
UT

 - 
HO

M
E

#22462

15

01/31/23 ID-S COX

12
" R

IS
E 

X 
24

" T
RE

A
D

/ 
18

6'
-0

"/
 (1

0 
RO

W
S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

4



SCALE:1/8"=1'-0"
FOOTING LAYOUT - HOME

5
1

SCALE:1/8"=1'-0"
UNDERSTRUCTURE LAYOUT - HOME

5
2

13'-3"

7'
-5

"

3'-0"

16'-10 1/2"

5'
-1

0"

5'
-1

0"

62'-11 1/2"

12
'-8

 1
/2

"

B

A

C

18'-0" 18'-0" 18'-0" 18'-0" 18'-0" 18'-0" 18'-0" 18'-0"

1 2 3 4 5 6 7 8 9

15
'-0

"
8'

-5
"

6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0"6'-0" 6'-0"6'-0"6'-0"6'-0"6'-0"

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32

W10X12 STRINGERS
TYP.

W14X30

A1

W14X30

A2

W14X30

A3

W14X30

A4

W14X30

A5

W14X26

B1

W14X26

B2

W14X26

B3

W14X26

B4

W14X26

B5

W14X22

C1

ROLL OVER
ANGLE (TYP.)

3/4"Ø SWAY ROD

12'-11"

6'
-1

"

24'-11"

6'
-7

 1
/2

"

19'-1 1/2" 28'-5"

14'-2 1/2" 14'-2 1/2"

6'
-1

" 3'-0"

C10X15.3 P.BOX CHANNEL TYP.

L2X2X3/16 P.BOX CROSSBRACE TYP.

DBL. L3X3X1/4 BEAM END CONNECTOR TYP.
6
1

6
2

18'-0" 15'-0"
10 11

C7X9.8 CHANNEL

Elev. 100'-0" Elev. 100'-0" Elev. 100'-0"Elev. 100'-0"

Elev. 100'-0" Elev. 100'-0"

SEE FOOTING SCHEDULE,
SHEET 5A FOR PIER
ELEVATIONS

16'-10 1/2"

5'
-1

0"

19'-1 1/2"

6'
-1

"

16'-10 1/2"

5'
-1

0"
6'

-1
"

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

FO
O

TIN
G

/ 
UN

D
ER

ST
RU

C
TU

RE
 L

A
O

UT
 - 

HO
M

E

#22462

15

01/31/23 ID-S COX

12
" R

IS
E 

X 
24

" T
RE

A
D

/ 
18

6'
-0

"/
 (1

0 
RO

W
S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

5



4"

CONCRETE EXIT & RAMP PAD
VARIES-SEE FOOTING LAYOUT FOR DIMENSIONS

#4 @ 18" O.C. EACH WAY OR
WWF 6X6-W2.9XW2.9

TOP OF CONCRETE PAD
ELEV. 100'-0"

MINIMUM EXIT PAD DETAIL
NOT TO SCALE

BOTTOM OF STEEL ELEVATION
(SEE PIER DESIGNS)

3 1/2" MINIMUM ANCHOR
BOLT PROJECTION
WITH 1" GROUT (BY CONCRETE CONTRACTOR)

1" MAXIMUM GROUT

HORIZONTAL BEAM (TYP)

ANCHOR BOLT (TYP)

KEEP GROUT A MINIMUM
OF 2" FROM EDGE OF PIER

ANCHOR BOLT (TYP)

BASE PLATE (TYP)
COLUMN (TYP)

1" MAXIMUM GROUT

3 1/2" MINIMUM ANCHOR
BOLT PROJECTION
WITH 1" GROUT (BY CONCRETE CONTRACTOR)BOTTOM OF STEEL ELEVATION

(SEE PIER DESIGNS) "C
" "D

"

"B
"

"A"

TOP OF
CONCRETE

ANCHOR BOLT DETAIL
NOT TO SCALE

A B C D
3/4" 3.5" 14.5" 18"

24
" M

A
X.

12
"

M
A

X

EXIT PADS TO BE FLAT AND LEVEL

1. OWNER/OWNERS REP SHALL VERIFY ALL DIMENSIONS PRIOR TO START OF CONSTRUCTION.

2. REINFORCING STEEL SHALL BE ASTM GRADE 60.

3. CONCRETE SHALL HAVE A MINIMUM COMPRESSIVE STRENGTH OF 4,000 PSI AT 28 DAYS.

4. ALLOWABLE SOIL BEARING CAPACITY = 2,000 PSF (ASSUME)

5. MAXIMUM HORIZONTAL TOLERANCE OF ANCHOR BOLT PLACEMENT SHALL BE ±1
8".

6. ALL ANCHOR BOLTS SHALL HAVE A  3 12" PROJECTION (±1
8") ABOVE THE TOP OF PIER ELEVATION,

UNLESS SPECIFICALLY NOTED OTHERWISE.

7. THE CONCRETE FOUNDATION CONTRACTOR IS RESPONSIBLE FOR NON SHRINK GROUTING.
8. THE ELEVATION AT THE TOP OF THE CONCRETE PIER IS DESIGNED TO BE 1" BELOW THE

BOTTOM OF STEEL ELEVATION.  THE TOLERANCE FOR THE BOTTOM OF STEEL ELEVATION IS ±1
8" .

THE TOP OF CONCRETE ELEVATION MAY BE RAISED TO MATCH THE BOTTOM OF STEEL
ELEVATION, AT THE CONCRETE CONTRACTORS DISCRETION.  THE CONTRACTOR OF THE
CONCRETE FOUNDATIONS IS RESPONSIBLE FOR ANY ADJUSTMENTS REQUIRED.

9. ALL UNDERGROUND UTILITIES ARE TO BE LOCATED AND MARKED DURING THE REVIEW PROCESS
BY THE OWNERS REPRESENTATIVE PRIOR TO FOUNDATION EXCAVATION.

10. A307 34"Ø X 21" X 3" RIGHT ANGLE BEND BOLT MAY BE USED IN PLACE OF 34"Ø X 18" HEADED BOLT.

FOUNDATION NOTES

TOP OF PIER DETAIL - "A" ROW
NOT TO SCALE

1 TOP OF PIER DETAIL - "B"  & "C" ROW
NOT TO SCALE5A

2
5A

3
5A

4
5A

31
2"

312"

A FR
O

N
T 

O
F

ST
A

N
D

BOTTOM OF STEEL 
ELEV. SEE CHART

TOP OF PIER
ELEV. SEE CHART

FOOTING
REINFORCEMENT

FOOTING & PIER DETAIL5
NOT TO SCALE

(3) TIES IN TOP 5"

2" CLR.

24"Ø PIER

ANCHORS (see chart)

GROUT (BY CONCRETE CONTRACTOR)

31
2"

3"
 C

LR
.

TY
P.

"H
"

"W" SQUARE

CONSTRUCTION JOINTVERT. REINFORCEMENT
(see chart)

"D
"

"M
"

FR
O

N
T 

O
F

ST
A

N
D

91
2"

912"

CB

5A

TIES (SEE CHART)

FOOTING SCHEDULE
COLUMN

ROW B.O.S. ELEV. T.O.C. ELEV.
"D" (DEPTH
OF PAD)

"H" (THICKNESS
OF PAD) "W" (WIDTH OF PAD) "FR" (FOOTING

REINFORCEMENT)
"PR" (PIER

REINFORCEMENT)
"PD" (PIER
DIAMETER) "AB" (ANCHOR BOLTS)

"A" 1-3 &
7-9 101'-10 3/4" 101'-9 3/4" 2'-0" 1'-3" 7'-0" SQUARE (10)-#5 BOTH

WAYS
(8)-#7 VERT. 24"Ø (4)-3/4" X 18" HEADED

ANCHOR BOLTS

"A" 4-6 101'-10 3/4" 101'-9 3/4" 2'-0" 1'-3" 8'-0" SQUARE (11)-#5 BOTH
WAYS

(8)-#7 VERT. 24"Ø (4)-3/4" X 18" HEADED
ANCHOR BOLTS

"B" 100'-6" 100'-5" 2'-0" 1'-0" 6'-6" SQUARE (8)-#5 BOTH WAYS (8)-#7 VERT. 24"Ø (4)-3/4" X 18" HEADED
ANCHOR BOLTS

"C" 100'-6" 100'-5" 2'-0" 1'-0" 5'-0" SQUARE (6)-#5 BOTH WAYS (8)-#7 VERT. 24"Ø (4)-3/4" X 18" HEADED
ANCHOR BOLTS

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

PI
ER

 S
HE

ET
 - 

HO
M

E

#22462

15

01/31/23 ID-S COX

12
" R

IS
E 

X 
24

" T
RE

A
D

/ 
18

6'
-0

"/
 (1

0 
RO

W
S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

5A



SCALE:1/8"=1'-0"
"B" ROW ELEVATION VIEW - HOME

6
1

W
6X

15

W14X26

B1

W14X26

B2

W14X26

B3

W14X26

B4

W14X26

B5

18'-0" 18'-0"

1 2

18'-0" 18'-0" 18'-0" 18'-0" 18'-0" 18'-0"

3 4 5 6 7 8 9

3
4"Ø SWAYROD
TYP.

W10X12 STRINGERS
TYP.

6'-0"

1 2

6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0"

3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32

W
6X

20

W
6X

20

W
6X

20

6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0"

13 14 15 16 17 18 19 20

18'-0" 18'-0"

5 6 7

W10X12 STRINGERS
TYP.

3
4"Ø SWAYROD
TYP.

W14X22

C1

SCALE:1/8"=1'-0"
"C" ROW ELEVATION VIEW - HOME

6
2

DBL. L3X3X1
4"

BEAM END
CONNECTOR
TYP.

18'-0" 15'-0"

10 11

W
6X

15

W
6X

15

W
6X

15

W
6X

15

W
6X

15

W
6X

15

W
6X

15

W
6X

15

W
6X

15

W
6X

15
DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

EL
EV

A
TIO

N
 V

IE
W

 - 
HO

M
E

#22462

15

01/31/23 ID-S COX

12
" R

IS
E 

X 
24

" T
RE

A
D

/ 
18

6'
-0

"/
 (1

0 
RO

W
S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

6



SCALE:1/4"=1'-0"
FRONT ELEVATION VIEW

120 1

BREAKER
SIZE POLE

CIRC.
#

320 1
(2) DUPLEX RECEPTACLE FRONT WALL

520 1
(2) DUPLEX RECEPTACLE FRONT WALL

720 1
LIGHTS

920 1
DUPLEX RECEPTACLE BACK WALL

1120 1
1320 1
1520 1
1720 1
1920 1SPARE

SPACE

BREAKER
SIZE POLE

CIRC.
#
2 20 1
4 20 1
6 20 1
8 20 1
10 20 1
12 20 1
14 20 1
16 20 1
18 20 1
20 20 1

BUS
A B

PANEL ___LP

SPACE
SPACE
SPACE
SPACE
SPACE

SPACE
SPACE
SPACE
SPACE
SPACE
SPACE

DUPLEX RECEPTACLE FRONT WALL
LIGHTS
LIGHTS

PTAC UNIT #1
PTAC UNIT #1

DBL. DUPLEX RECEPTACLE BACK WALL
GFCI DUPLEX RECEPTACLE ROOFTOP

SPARE

CONDUIT WILL BE 1/2" EMT, 1/2" STEELFLEX, OR
SURFACE RACEWAY UNLESS OTHERWISE NOTED

WIRING ON 20A BREAKERS WILL BE
#12 = THWN - THHN

EQUIPMENT GROUND RUN IN ALL CONDUITS
OR NON-METALLIC SURFACE RACEWAYS

PANEL FEEDER, NEUTRAL, BONDING, AND
GROUNDING TO BE ACCORDING TO APPLICABLE
CODES ADOPTED BY THE LOCAL AHJ
ON SITE BY ELECTRICAL CONTRACTOR.

PANEL BONDED TO METAL BUILDING FRAME
BY PRESS BOX MANUF.

MOUNTING:    FLUSH      SURFACE
200 AMP RATED - 32 CIRCUIT W/ EQUIPMENT GROUND

U.L. LISTED (PANELBOARDS NO. 67) COPPER BUSBARLOAD CENTER SCHEDULE 
GENERAL ELECTRIC  #TLM1620

____________ VOLTS ___ PH. 3-WIRE
____________ AMP MAIN BREAKER
208-240/120 1

10kAICX 100

20
2

20
2

SCALE:3/4"=1'-0"
SECTION VIEW

NOTE:

ROOF PLATE STEEL IS WELDED ON BOTH
SIDES OF RAFTERS WITH 1-1/2" LONG 1/8"
FILLET WELDS ON 12" CENTERS.

WALL PANELS ARE ATTACHED WITH #12 TEK
SCREWS - 6" O.C. AT THE TOP AND BOTTOM
OF THE PANELS AND 12" O.C. AT ANY
INTERMEDIATE BRACE. LAP SCREWS ARE
PLACED AT EACH END OF THE PANELS,
AT THE INTERMEDIATE SUPPORTS, AND AT
THE MID POINT BETWEEN SUPPORTS. (TEK #14)

FLOOR PLANK ATTACHED WITH (2)-MILL ALUM.
HOLD DOWN CLIP w/5/16"X1" CARRIAGE SCREW
AND 5/16" FLANGE NUT AT EACH W10X12.
FRONT (END) FLOOR PLANK ATTACHED TO
W10X12 WITH (2)-COUNTERSUNK 2" TEK SCREWS
PER END OF PLANK AND AT INTERMEDIATE SUPPORTS.

SCALE:1/4"=1'-0"
SIDE VIEW

NOT TO SCALE
PRESSBOX BASE TRIM DETAIL

NOT TO SCALE
ROOF RAIL ATTACHMENT

(OPTIONAL ROOF RAILING)

R-PANEL @ FRONT
OF PRESSBOX

PRESSBOX
BASE

PRESSBOX
SUPPORT

ALUM. PRESSBOX
BASE COVER

ALUM. CLIP
BETWEEN BOLTS (TYP)

3" X 3" X 1/4" GALV.
RAIL RISER (TYP)
6" X 6" X 3/8" GALV.
BASE PLATE (TYP)

1/8" STEEL
ROOF PLATE (TYP)

5/8" X 4" GALV. STUD (A36) (TYP)
WELDED ON BOTH SIDES

4" X 4" X .120"
SQUARE TUBING (TYP)

1/4
1/4

2
2

TYP.

1/4"

1/8"
CAULK AFTER WELDING

A 4'X2' EDGELIT LED PANEL LIGHT
RAB LIGHTING EZPAN2X4-40N/D10
0.26A @ 120V INPUT WATTS: 29.6W

S 15A. 125V. SINGLE POLE
DECORATOR STYLE SWITCH

S3
os

Sos

15A. 125V. 3-WAY DECORATOR STYLE SWITCH
WITH MANUAL ON/OFF OCCUPANCY SENSOR

15A. 125V. SINGLE POLE DECORATOR STYLE SWITCH
WITH MANUAL ON/OFF OCCUPANCY SENSOR

20A. 125V. DUPLEX RECPT.
(GFCI WHERE NOTED)

J 4X4X2 1/8" JUNCTION BOX
W/ 3/4" C STUBOUT UNDER FLOOR
FOR USE BY OTHERS

EXIT

B
PC

12W. LED EXTERIOR LIGHT
W/PHOTOCELL

EM./EXIT LIGHT AT EXTERIOR DOORS

BATTERY BACK UP EMERGENCY/EXIT LIGHT
CONNECT TO LIGHT CIRCUIT AHEAD OF
SWITCH. NEC 700.12 (F)

PTAC UNIT
12,000 BTU COOL/12,000 BTU EHEAT
5.6 A. COOL/15.4 A. HEAT - 230V.
AMANA # PTC123E35AXXX OR EQUAL
FIELD INSTALLED

PTAC UNIT

GFCI DUPLEX RECEPTACLE ROOFTOP

10'-0"

J

A AA A

EX
IT

7

6

FIXED GLASS
@ END WALLS

LP
LP

LP LP 3

12/14 16/1815/17LP

PTAC UNIT

8

8'
-0

"

6'-0"
LANDING

30'-0" 6'-0"
LANDING

10'-0" 10'-0"

J J JJJ

3'-0" X 6'-8"
DOOR (TYP)

SB
PC

4LP

LP

A A

3'-0" X 6'-8"
DOOR (TYP)

S B
PC

EX
IT

18" COUNTER TOP

30" x 36"
ROOF HATCH

& LADDER

BREAKER PANEL (LP)

10LP      (WR GFCI)
ROOFTOP

17LP      (WR GFCI)
ROOFTOP

5

SCALE:1/4"=1'-0"
PLAN VIEW

1 1 LP LP3LP2 LP2

LP

PTAC UNIT

LP

PTAC UNIT

LP

S3 os

FIXED GLASS
@ END WALLS

3'-0"

8'-0"

9'
-1

0 
1/

2"

9'
-8

 1
/2

"
4'

-0
"

2'-0"
6'

-8
"

4 
1/

4"

2'
-3

 1
/2

"
3'

-2
 3

/4
"

1'-4 
1/4"

9 
1/

4"

8'
-0

"

2'-3 1/4"

2'
-3

 1
/2

"

3'
-2

 3
/4

"
1'-4 

1/4"
9 

1/
4"

30'-0"

9 1/4" 5'-8 5/16" 5'-8 5/16" 5'-8 5/16" 9 1/4"

3'-9 13/16" 3'-9 13/16" 2'-3 1/4"

5'-8 5/16" 5'-8 5/16"

2'-0"
TYP

2'
-0

"
TY

P 2'
-3

 3
/4

"

2'
-8

 3
/4

"

7'
-6

"

9
'-1

0
 1

/2
"

9
'-8

 1
/2

"

1'-6"

26 GAUGE "R" PANEL WITH
CLOSURE STRIPS (STANDARD

COLORS - 1 1/2"± RIB)

4"X4" JUNCTION BOX
w/3/4" STUBOUT

26 GAUGE "R" PANEL
WITH CLOSURE STRIPS
(STANDARD COLORS
- 1 1/2"± RIB)

WALLS:
R15 INSULATION
IN CAVITY WITH
ARMORFLECT WHITE
CONTINUOUS WRAP
INSULATION: R-8.7 CONT.
1/4" FIBERGLASS
CORE BONDED TO
REINFORCED
SCRIM FACING

NOTE:
MAX. IN-WALL
THROUGH FLOOR
CONDUIT = 1 1/4"

26 GAUGE TRIM (TYP)
(STANDARD COLORS
- 3"± RIB)

R38 INSULATION
(ROOF)

1/8" 4 WAY STEEL ROOF-CONTINUOUS
WELDED SEAMS COATED WITH METAL
PRIMER & 36 MILS OF WHITE
ELASTOMERIC ROOF COATING

WP GFCI 20A. DUPLEX RECEPT.
(w/VIEWING PLATFORM)

CAPPED STUBOUT BY PB MANUFACTURER
(WITHOUT VIEWING PLATFORM)

24 X 24 X 5/8
ACOUSTICAL
CEILING TILE

2X4 EDGELIT LED
LIGHT PANEL (TYP)

4" X 4" X 11 GA. SQUARE TUBING
& 4" X 2" X 14 GA. CEE STRUCTURE
WITH METAL PRIMER AFTER WELDING

INSULATED SINGLE HUNG ALUMINUM
REPLACEMENT WINDOWS

ANODIZED ALUM. COUNTER TOP
L2X2X3/16 COUNTER
ATTACHMENT ANGLE
4" X 2" X 11 GA SQUARE TUBING
4" X 4" X 11 GA SQUARE TUBING

ELECTRICAL OUTLETELECTRICAL OUTLET
1/2" VINYL SURFACED GYPSUM PANELS
GOLD BOND-DURASAN (SANTA FE-PORCELAIN)

"INTERLOCK" ALUMINUM DECK SYSTEM
4" VINYL COVE BASE
BRINKMAN-PRO CB-35 (MED. GRAY)

1'-0"
1/4"

8'-0"

W10X12 6" R19 INSULATION
(BASE ONLY)

BELLY PAN ANGLE
C10X15.3 (TYP)

ELECTRICAL SUBPANEL W/ 2"
STUBOUT THROUGH FLOOR.

METAL CHASE TO FLOOR
AND CEILING

L2X2X3/16" NYLON SUPPORT WEBBING
CLIP 12" FROM END AND 24" O.C. FRONT

TO BACK AT EVERY 1st AND 4th ROOF CEE
IN EACH 6'-0" ROOF FRAMING BAY SIDE TO SIDE.

WEBBING SECURED WITH #5 TEK SCREW W/WASHER

GREEN 1" X .040" NYLON
SUPPORT WEBBING (TYP)

30'-0"6'-0"

3'
-8

"
4'

-8
"

9'
-1

0 
1/

2"
4'

-0
"

LANDING DECK,
RAIL, AND FENCE

FIELD INSTALLED
(TYP)

6'-0"

2
7

5
7

6
7

8
7

3
7

4
7

SCALE:1/4"=1'-0"
ROOF RAIL LAYOUT1

7

30" x 36"
ROOF HATCH

& LADDER

20
2

PTAC UNIT #3
PTAC UNIT #3

PTAC UNIT #2
PTAC UNIT #2

S3 os

SPARE
DBL DUPLEX RECEPTACLE BACK WALL

NOT TO SCALE
12x12 J-BOX DETAIL7

7

(3) - 1"C UP
THROUGH ROOF

(3) - 1"C DOWN
THROUGH FLOOR

12X12X4 J-BOX

28" ABOVE F.F.

34" ABOVE F.F.
QUAD RECT.

LP8

8LP

12"X12" J-BOX

ROOF RAILING AND 6 GAUGE
BLACK VINYL COATED FENCING
(FIELD INSTALLED)

ROOF RAILING AND 6 GAUGE
BLACK VINYL COATED FENCING
(FIELD INSTALLED)

1/8" STEEL ROOF
PLATE (TYP)1/8"

CAULK AFTER WELDING

END CAPPED BY
PB MANUFACTURER

RIGID 1"C 90°
SWEEP (TYP)

1/8" STEEL ROOF
PLATE (TYP)1/8"

CAULK AFTER WELDING

WP J-BOX WR GFCI 20A. DUPLEX RECEPT.
AND WP IN USE COVER
 (TYP)

RIGID 3/4"C 90°
SWEEP (TYP)

EMT

ROOF SOUND/DATA ROOF ELECTRICAL OUTLETS

ROOF ELECTRICAL OUTLETS

NOT TO SCALE
AND SOUND/DATA STUB OUTS9

7

1" CONDUIT STUB OUT (TYP.)

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

PR
ES

S 
BO

X 
SH

EE
T 

- H
O

M
E

#22462

15

01/31/23 ID-S COX

12
" R

IS
E 

X 
24

" T
RE

A
D

/ 
18

6'
-0

"/
 (1

0 
RO

W
S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

7



5'-10"

L3X3X1/4 TREAD

42
"

V
A

RI
ES

3'-9 3/16"

4'-3 3/8" (CLEAR)
4'-7"

ANOD. ALUM.
HANDRAIL (TYP)

36
"

L3X3X1/4 GALV.
RAIL RISER (TYP)
2 X 4 1/2 ALUM.
TOEBOARD (TYP)
ALUM. TREAD
PLANK (TYP)

NOT TO SCALE
RAMP SECTION

8
2

NOTE TO SCALE
RAMP DETAIL

8
1

END EXIT SECTION
8
4

NOT TO SCALE

5'-4 3/16"

5'-10 3/8" (CLEAR)
6'-2"

36
"

C7X9.8 (TYP)

ALUM. TREAD
PLANK (TYP)

L3X3X1/4 GALV.
RAIL RISER (TYP)

ANODIZED ALUM.
HANDRAIL (TYP)

42
"

L2X1 1/2X3/16
PLANK CLIP (TYP)

END EXIT DETAIL
8
3

NOT TO SCALE

6'-4"

3'
-0

"

3'
-6

"

ANODIZED ALUMINUM
HANDRAIL

3'
-6

"
4'

-0
"

1'-0"5'-1 1/2"
LANDING

12 1/2" 8"

3'
-0

"
ELEV. 100'-0"

8
2

24'-0"24'-0"

L2X2X3/16
BRACING (TYP)

PAINTED RISER FACADE
(COLOR: BY OWNER)

2X12SN WITH
CONTRASTING AISLE
NOSING (TYP)
ELEV. 100'-0"

ALUMINUM
HANDRAIL

C7X9.8
STEP RISER (TYP)

3'
-6

"

3'
-0

"

7'-4"
8 TREADS @ 11"

1'-0"
4'

-0
"

8 
RI

SE
S 

@
 6

"
3'

-6
"

2X12SN WITH
CONTRASTING AISLE
NOSING (TYP)
ELEV. 100'-0"

ALUMINUM
HANDRAIL

C7X9.8
STEP RISER (TYP)

4'
-0

"
8 

RI
SE

S 
@

 6
"

3'
-6

"

3'
-6

"

3'
-0

"

7'-4"
8 TREADS @ 11"

1'-0"6'-4"

8
4

FRONT EXIT DETAIL
8
5

NOT TO SCALE

FRONT EXIT SECTION
8
6

NOT TO SCALE

3'-9 3/16"

4'-3 3/8" (CLEAR)
4'-7"

36
"

C7X9.8 (TYP)

ALUM. TREAD
PLANK (TYP)

L3X3X1/4 GALV.
RAIL RISER (TYP)

ANODIZED ALUM.
HANDRAIL (TYP)

42
"

L2X1 1/2X3/16
PLANK CLIP (TYP)

8
6

PAINTED RISER FACADE
(COLOR: BY OWNER)

PAINTED RISER FACADE
(COLOR: BY OWNER)

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

RA
M

P 
D

ET
A

IL
 S

HE
ET

 - 
HO

M
E

#22462

15

01/31/23 ID-S COX

12
" R

IS
E 

X 
24

" T
RE

A
D

/ 
18

6'
-0

"/
 (1

0 
RO

W
S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

8



NOT TO SCALE
TYPICAL BEAM TO COLUMN DETAIL2

NOT TO SCALE
ROW "A" BEAM DETAIL1

9

NOT TO SCALE
PLANK INSTALLATION DETAIL7

NOT TO SCALE
JOINT SLEEVE INSTALLATION DETAIL8

NOT TO SCALE
INTERLOCK JOINT SLEEVE INSTALLATION27

NOT TO SCALE
RISER JOINT SLEEVE INSTALLATION9

NOT TO SCALE
END CAP INSTALLATION DETAIL10

NOT TO SCALE
STRINGER CLIP DETAIL5

NOT TO SCALE
BASE PLATE ATTACHMENT DETAIL6

NOT TO SCALE
STRINGER SNOOTER JOINT CONNECTION4

NOT TO SCALE
ANGLE FAB DETAIL3

NOT TO SCALE
ATTACHMENT DETAIL12
FRONT RAIL RISER

NOT TO SCALE
RAIL RISER ATTACHMENT DETAIL14

NOT TO SCALE
SIDE RAIL RISER ATTACHMENT DETAIL13

NOT TO SCALE
TENSION BAR CLAMP DETAIL15

NOT TO SCALE
SIGHT LINE PARAMETERS17

NOT TO SCALE
PRESSBOX BASE DETAIL22

NOT TO SCALE
SWAYROD ATTACHMENT19

NOT USED

20 21

NOT TO SCALE
LOWER PART/STEP FRAME DETAIL24

NOT TO SCALE
PRESSBOX STEP DETAIL25

NOT TO SCALE
STEP RISERS @ BOTTOM OF EXIT STEPS23

1/2"X3 3/4" CONCRETE
WEDGE ANCHOR (TYP)

HEX HEAD TEK #3 12X14X1
(5) EVENLY SPACED

CONTRASTING AISLE
NOSING (TYP)

STEP RISER CUT TO FIT

STEP RISER (TYP)

2X12 STEP NOSE
PLANK (TYP)

L2X2X1/8

L2X2X1/83/8"X3" CONCRETE
WEDGE ANCHOR

HEX HEAD TEK #3 12X14X1
(5) EVENLY SPACED 3/8"X3" CONCRETE

WEDGE ANCHOR

3 1/2"

STRINGER

CONCRETE PIER

1/4" GUSSET PLATE
(TYP ONE SIDE OF

STRINGER ONLY)

(4) 5/8" X 1 3/4" BOLTS
(4) ANCHOR BOLTS

& NUTS W/FLAT WASHER
SET IN 3 1/2" X 3 1/2"

PATTERN @ "A" ROW)

1/4"
MIG 1A

(PP)1/4"

GUSSET PLATE (TYP)

STRINGER

1/4" GUSSET PLATE
(TYP ONE SIDE OF

STRINGER ONLY)

(4) 5/8" X 1 3/4" BOLTS
IN 3" X 6" PATTERN

3/16" MIG 2A
(PP)

HORIZONTAL BEAM
(4) 5/8" X 1 3/4" BOLTS
IN 3" X 3" PATTERN

(PP)
MIG 4A

1/4"
0

3" COLUMN (TYP)

COLUMN TOP PLATE
W/(4) 11/16"Ø HOLES

3/16"X8" X REQD.
STRINGER CLIP

MIG 2A 3/16"

(PP)

1/4"(PP)

0MIG 4A

COLUMN TOP PLATE
W/(4) 11/16"Ø HOLES

5/16" X 1" CARRIAGE SCREW
(MECH. GALV.)

ALUMINUM PLANK

MILL ALUMINUM
HOLD DOWN CLIP (TYP)

SEAT OR TREAD
ANGLE (TYP)

5/16" FLANGE NUT
(MECH. GALV.)

1. INSERT THE TWIN JOINT SLEEVES
APPROXIMATELY HALFWAY INTO THE
PLANK, STAGGERED 1/2"±.
ANCHOR WITH HARDWARE PROVIDED.

2. SLIDE THE END OF THE NEXT PLANK OVER THE TWIN JOINT SLEEVES
UNTIL THE PLANKS ARE SNUG AGAINST EACH OTHER. DO NOT
ANCHOR THIS PLANK TO THE TWIN JOINT SLEEVES.

INTERLOCK JOINT SLEEVE (TYP)
1. INSERT THE TWIN JOINT SLEEVES
APPROXIMATELY HALFWAY INTO THE
PLANK, STAGGERED 1/2"±.
ANCHOR WITH HARDWARE PROVIDED.

2. SLIDE THE END OF THE NEXT PLANK OVER THE TWIN JOINT SLEEVES
UNTIL THE PLANKS ARE SNUG AGAINST EACH OTHER. DO NOT
ANCHOR THIS PLANK TO THE TWIN JOINT SLEEVES.

1. INSERT THE JOINT SLEEVE
APPROX. HALFWAY INTO THE PLANK,
ANCHOR WITH HARDWARE PROVIDED.

2. SLIDE THE END OF THE NEXT PLANK OVER THE JOINT SLEEVE
UNTIL THE PLANKS ARE SNUG AGAINST EACH OTHER. DO NOT
ANCHOR THIS PLANK TO THE JOINT SLEEVE.

1. LOCATE THE END CAP AS SHOWN.
(WITH WIDEST FLANGE ON BOTTOM
FOR CHANNEL E.C., AND NARROW FLANGE ON
TOP FOR ANGLE E.C.)

2. MECHANICALLY FASTEN THROUGH BOTTOM FLANGE
OF CHANNEL E.C., AND TOP FLANGE OF ANGLE E.C.
(CHANNEL E.C. SHOULD BE TAPPED INTO PLACE
WITH A RUBBER MALLET AS NECESSARY)

8" (TYPICAL)

EQUAL

3"

EQUAL

HORZ. BEAM WIDTH

6" (TYPICAL

1"

1"

VA
RI

ES
W

ITH
 R

ISE

NOTES:
1. (4)-11/16"Ø HOLES
2. 3/16" PLATE

BASE PLATE

COLUMN

ANCHOR HOLES
(4 REQUIRED)

BASE PLATE
COLUMN

ANCHOR HOLES
(2 REQUIRED)

5/16"
MIG 1A

5/16"
MIG 1A

STRINGER

STRINGER

STRINGER

STRINGER

(PP)
MIG 9A S

1/16
60°

(PP)
MIG 9A S

1/16
60°

(PP)
MIG 3A 1/16

(PP)
MIG 9AS

1/16
60°

S = DEPTH OF GROOVESTRINGER

3/16"
MIG 3A

(PP)

0

3/16" MIG 1A
(PP)MIG 1A 3/16"

(PP)

MIG 1A 3/16"

(PP)

1 
1/

2"

4"
3/

4"

RAIL RISER (TYP)

3/8" X 1 1/4"
CARRIAGE SCREW

W/NUT & LOCK
WASHER (TYP)

1 5/8" O.D.  RAIL
GALV. RAIL CLAMP (TYP)

ANGLE FABRICATION
(TYP @ ENDS OF STAND)

FENCE
5/8 X 4 ALL THREAD

BOLT W/(3) NUTS
FOR PROPER ALIGNMENT

OF RAIL RISERS (TYP)

STRINGER

L2 1/2 X 2 X 3/16
CLIP WELDED TO

STRINGER FOR ATTACHMENT
OF RAIL RISERS (TYP)

5/8 X 1 3/4
BOLT & NUT (TYP)

SIDE RAIL RISER
(TYP. @ ENDS OF STAND)

1"

6"

3 
1/

2"

MIG 4A
(PP)

0
3/16"

V
A

RI
ES

 W
ITH

 R
IS

E

MIG 4A
(PP)3/16"

3/16" MIG 1A
(PP)3/16"

1 5/8" O.D. RAIL
W/RAIL CLAMP (TYP)

3/8" X 1 1/4" CARRIAGE BOLT

3"

1"

3/4"3 1/2"1/8"

1 1/2"

4 3/8"

SIDE FENCE TO BACK FENCE
TRANSITION RAIL RISER ANGLE
@ REAR & ENDS OF BLEACHER (TYP)

3/8" X 1 1/4" CARRIAGE
SCREW W/NUT & LOCK

WASHER (TYP)

4 3/8" X 1" X 1/8"
TENSION BAR CLAMP (TYP)

FENCE

FENCE

9/16" X 3/16" X REQ'D.
LENGTH TENSION BAR (TYP)

4 3/8" X 1" X 1/8" TENSION
BAR CLAMP (TYP)
SIDE FENCE TO BACK
FENCE TRANSITION RAIL
RISER ANGLE @ REAR & ENDS
OF BLEACHER (TYP)

3/8" X 1 1/4" CARRIAGE
SCREW W/NUT & LOCK
WASHER (TYP)

FENCE

9/16" X 3/16" X REQ'D.
LENGTH TENSION BAR (TYP)

4 3/8" X 1" X 1/8" TENSION
BAR CLAMP (TYP)

SECTION "A-A"

"A""A"

POSITION AFTER
TIGHTENING BOLT

POSITION BEFORE
TIGHTENING BOLT

ELEVATION VIEW

4'
-0

"

2'-9"1'-7"2'-5"

4'-0"

3 
5/

8"

4'
-0

"

6'
-0

"

3 
5/

8"

4 5/16"

COLUMN (TYP)

7/8" HILLSIDE
WASHER (TYP)

2 1/4 X 1 1/8
SLOTTED HOLE
IN WEB (TYP)

SECTION "A-A"SWAYROD (TYP)

2 1/4 X 1 1/8
SLOTTED HOLE

IN WEB (TYP)

7/8" HILLSIDE
WASHER (TYP)

THREADS TO BE
FLATTENED AFTER

INSTALLATION
3/4" FLAT WASHER (TYP)

COLUMN WEB

"A"

"A"

7"

8'-0" PRESSBOX BASE

3'-8"

STRINGER

4X7X3/8 PLATE

STRINGER

L2X2X3/16 BRACING
5/8" X 1 3/4" STRUCT. BOLTS
10X4X3/8 PLATE

MIG 4A
1/4"

(PP) 1/4"

(PP)
MIG 4A

1/4"
0

(PP)
MIG 1A

3/16"
3/16"

5/8" X 1 3/4" STRUCT. BOLTS
HORIZONTAL BEAM (TYP)
5/8" X 1 3/4" STRUCT. BOLTS

(PP)
MIG 4A

1/4"
0

8" X 6" X 3/8" TOP PLATE (TYP)

(PP)
MIG 1A

3/16"
3/16"

COLUMN (TYP)
SWAYROD BRACING (TYP)

4 1/4" 3 1/2"

4-5/8" BOLTS IN
11/16"Ø HOLES (TYP)
4X7X3/8 PLATE

"A"
"A"

4 1/4" 3 1/2"

2 
1/

2"

4"

SECTION "A-A"

11/16"Ø HOLES (TYP)

2"
4 

1/
2"

2"

11"

L3 X 2 X 3/16 @ 3"
LONG w/1-11/16"Ø HOLE

1/2" X 3 3/4"
WEDGE ANCHOR (TYP)

6 1/4"2 11/32"

1 9/16"

1'-0 1/2"
1 1/8"

2" COPE

C7X9.8

L2 X 2 X 3/16
w/2-11/16"Ø HOLES
(TYP. ALL STEP RAIL RISER CLIPS)
7/16" HOLES FOR ATTACHMENT
OF STEP PLANK CLIP (TYP)

2 9
/1

6"
2 9

/1
6"

4"

2"

9 
1/

8"MIG 2A
3/16"

(PP)

MIG 1A
3/16"

(PP)

3/16"
MIG 1A

(PP)

4'-0 3/16"
(1)2X4N, (4)2X9D & (1)2X8D

4'-10 3/4"
5 TREADS @ 11 3/4"

3'
-3

"
6 

RI
SE

S 
@

 6
 1

/2
"

5" INTERLOCK
STEP RISER (TYP)

2X4N & 2X8H (TYP EACH TREAD)

3/16" PLATE (TYP)

L2X2X3/16 CLIP (TYP)

ALUMINUM
RISERS (TYP)

NOT TO SCALE
"L" BRACKET DETAIL18

INTERLOCK 2000

ALUMINUM SEAT PLANK
FABRICATED "L" BRACKET

5/16"X1" CARRIAGE
SCREW w/FLANGE NUT
& PLANK CLIP (TYP)

MILL ALUMINUM TREAD (TYP)

17
"

FLAT WASHER (TYP)

RISER PER PLAN HELD
SNUG TIGHT BY SEAT

ANGLE BRKT. HOLE IN
STRINGER USED AT

INSTALLERS DISCRETION CAP SCREW W/KL NUT

NOT TO SCALE
FENCE ATTACHMENT DETAIL16

GALV. RAIL CLAMP (TYP)
SIDE RAIL RISER (TYP)

1 5/8" O.D. RAIL

GALV. TENSION BAR CLAMP (TYP)

GALV. TENSION BAR (TYP)

GALV. BACK RAIL RISER (TYP)

GALV. RAIL CLAMP (TYP)

5/8" X 4" BOLT W/3 NUTS FOR
ALIGNMENT OF RISER (TYP)

5/8" X 1 3/4"
STRUCTURAL BOLT (TYP)

2"
6"

RAIL RISER (TYP)
ALUMINUM

TREADS (TYP)

ALUMINUM
RISER (TYP)

STRINGER

5/8" X 1 3/4"
STRUCT. BOLT (TYP)

NOT TO SCALE
EXIT STEP HANDRAIL TERMINATION DETAIL26

3
2

3

2

6" RISE X 11" TREAD

3
2

3

2

VIEW "A-A" VIEW "C-C"

VIEW "B-B" VIEW "D-D"7" RISE X 11" TREAD

"A"

"B"

"B"
"A"

"C"

"D"

"D"
"C"

12" 12"

NOT TO SCALE
INTERLOCK 2000 HALF STEP & HANDRAIL ATTACHMENT DETAIL11

"A"

"A"
SECTION "A-A"

2 PIECE CONTRASTING AISLE
NOSING AT HANDRAIL CONNECTION
(AISLE WIDTH / 2 - 2.625")

5 1/4"

MID-AISLE HANDRAIL (TYP)
2 PIECE CONTRASTING AISLE
NOSING AT HANDRAIL CONNECTION
(AISLE WIDTH / 2 - 2.625")MID-AISLE

HANDRAIL (TYP)
3/8"X1" CAP SCREW

w/KL NUT & FLAT WASHER
PIPE MOUNT (SBC-X23694-H)

3/8"X1" CAP SCREW
w/KL NUT & FLAT
WASHER PIPE MOUNT
(SBC-X23694-H)

3/8"X1" CAP SCREW
w/ KL NUT & FLAT WASHER

POP-RIVET - (3) PER C.A.N.

C.A.N. (FULL AISLE WIDTH)

3/8" X 1 1/4" CAP SCREW
w/ FLAT WASHER, LOCK
WASHER, AND HEX NUT

C.A.N. (FULL AISLE WIDTH)

3/8" DRIVE RIVET
2 BOLT FLOOR FLANGE 2"

6"
1" 3"

ALUMINUM PLANKING

3/16"
MIG 1A

(PP)

RAIL RISER AND ANGLE
PUNCHED w/11/16"Ø
HOLES FOR 5/8"Ø BOLTS

NOT USED

9 9 9 9 9

999999

9 9 9 9 9

9 9 9 9 9

9 9 9
9

9

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

D
ET

A
IL

 S
HE

ET
 - 

HO
M

E

#22462

15

01/31/23 ID-S COX

12
" R

IS
E 

X 
24

" T
RE

A
D

/ 
18

6'
-0

"/
 (1

0 
RO

W
S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

9



SCALE:1"=1'-0"
PLANK ARRANGEMENT4

10 8" RISE X 24" TREAD

A = 2 X 10 ANODIZED ALUMINUM SEAT
B = 2 X 10 PAINTED ALUMINUM TONGUE & GROOVE TREAD (COLOR: TEXTURED GRAY)
C = 2 X 4  1/2 PAINTED ALUMINUM TONGUE & GROOVE KL NOSE (COLOR: TEXTURED GRAY)
D = 1 X 6 1/2 ANODIZED ALUMINUM FLAT RISER
E = 1 X 1 PAINTED ALUMINUM CONTRASTING NOSING (BLACK)

ITEM DESCRIPTION

1 W 10 X 12 (50 ksi)

2 W 6 X 9 (50 ksi)

4

6

7

L 3 X 3 X 1/4 (50 ksi)

8

L 2 X 2 X 3/16 (50 ksi)

9

L 2 X 1 1/2 X 3/16 (50 ksi)

10

11

10 X 8 X 3/8 PLATE

6 X 6 X 3/8 PLATE

8 X 8 X 1/2 PLATE

3

3 X 8 X 3/8 PLATE

13

ANODIZED ALUMINUM RAIL (SEE NOTES)14

3/4"ØX12" ALL THREADED ROD W/ HIT-HY 200 ADHESIVE

15

6 X 8 X 3/8 PLATE

          (MIN. EMBEDMENT = 9")

6 GUAGE BLACK VINYL COATED CHAINLINK FENCE (2" MESH)

5

L 4 X 4 X 1/4 (50 ksi)

12

4 X 8 X 3/8 PLATE

16 2 X 1/4 GUSSET PLATE (A36)

1
2

3

3'
-6

"
3'

-6
"

A

8'-2"

6'-0"

DBL. L2X2X3/16" STRUT @ PIER
LOCATIONS ONLY

14

15

3

RI
SE

42
" A

BO
VE

 A
ISL

E N
O

SEANOD. ALUM.
RAIL (TYP)

GALVANIZED L3X3X1/4
RAIL RISER (TYP)

RI
SE

36"
 AB

OV
E A

ISL
E N

OS
E

NOT TO SCALE
SIDE RAILING @ END AISLE3

OFFSET HANDRAIL (TYP)

6 GAUGE BLACK VINYL
COATED CHAINLINK FENCE

10

SCALE: 3/8' = 1'-0"
SECTION VIEW @ W/C AREA - VISITOR2

10

3
16" GALV.

PLATE

SCALE: 3/8' = 1'-0"
SECTION VIEW - VISITOR 1

10

1
2

3
4

5
6

7
8

3'
-6

"
3'

-6
"

24"
TREAD

8" RIS
E6'-2"

6'-0" 12'-0"

16

14

15

3

7

5

13

3

5

10

8

5

6

1

1

16

3'-1"

A B

DBL. L2X2X3/16" STRUT @ PIER
LOCATIONS ONLY

7

14

15

AISLE AREASEATING

A

A

D

D

B
D

D

BC
E

BC
E

B B

B B

B

1'-2 1/2"

8"

9 1/2"

2'-0"

3

L2X2X3/16
ROLLOVER ANGLE TYP.

16
7

5

13
1

7

ELEV 100'-0"

FOOTBOARD WALKING SURFACE SHALL
BE CLASSIFIED AS HIGH TRACTION
 COATED (TEXTURE GRAY) U.N.O.

5

5

NOTES
ALL STRUCTURAL AND MISCELLANEOUS STEEL SHALL
CONFORM TO THE FOLLOWING A.I.S.C. STANDARDS
   PLATE UP TO 1/2" THICK = A36 Gr. 36 Fy = 36 ksi Min.
   PLATE 5/8 and greater = 572  Gr 50, Fy = 50 ksi Min.
   ANGLE = A36/A36M GRADE 50
   WIDE FLANGE = A992 Fy=50 ksi
   CHANNEL = A36/A36M GRADE 50
   ROD = A36/A529 GRADE 50
   TUBE = A500 GRADE "B" 46 ksi
WELDS ARE ALL AROUND WITH TYPE ER70S-6
   WIRE MIG.
ALL STEEL TO BE HOT DIPPED GALVANIZED
   TO A.S.T.M.  A-123-89 ae1.
STRUCTURAL BOLTS ARE HOT DIPPED GALV. AND
   ARE EQUAL TO OR GREATER THAN A-307.
NO CONNECTIONS UTILIZING HIGH STRENGTH
   BOLTS ARE CLASSED AS SLIP CRITICAL.
ANODIZED ALUMINUM RAIL IS 1 1/4" NOMINAL
   PIPE SIZE. (1 5/8" O.D.)
SOUTHERN BLEACHER COMPANY AS A MANUFACTURER AND
INSTALLER OF GRANDSTAND SEATING IS NOT AUTHORIZED
TO CERTIFY PLANS AS ADA COMPLIANT. HOWEVER, TO THE
BEST OF OUR KNOWLEDGE THESE PLANS MEET OR EXCEED
ADA REQUIREMENTS FOR QUANTITY OF ADA SEATING,
ACCESS/EGRESS TO ADA SEATING, & DISPERSAL OF ADA SEATING.

ALL FIELD CONNECTIONS ARE NON-SLIP CRITICAL U.N.O. ALL
CONNECTIONS ARE DESIGNED TO UTILIZE A307 BOLTS, IT IS
ACCEPTABLE TO USE A325N BOLTS IN LIEU OF THE A307 BOLTS.
THE INSTALLATION OF THESE BOLTS ARE TO BE TIGHTENED A SNUG
TIGHT CONDITION AS SPECIFIED BY AISC.

1

2

3

4

5

6

7

8

TREAD & SEAT AREA 100psf UNIFORM LIVE LOAD.
SEAT (VERTICAL) 120 lbs/lf.
SEAT (HORIZONTAL SWAY) 24lbs/lf PARALLEL AND

HANDRAIL & GUARDRAIL 200 lbs CONCENTRATED IN ANY DIRECTION.
HANDRAIL & GUARDRAIL 50 lbs/lf IN ANY DIRECTION AT THE TOP.

DESIGN LOADING

GROUND SNOW LOADS: 20psf

    10lbs/lf PERPENDICULAR TO SEAT.
TREAD - STAIR AND AISLE TREADS - MINIMUM CONCENTRATED LOAD OF
      300LBS ON AN AREA OF 4 SQUARE INCHES

GUARDS, INFILL COMPONENTS - 50LBS PER SQFT IN HORIZONTAL DIRECTION 

2018 INTERNATIONAL BUILDING CODE

RISK CATEGORY = III
WIND EXPOSURE = C
BASIC WIND SPEED = 123 MPH

SEISMIC DESIGN DATA:
SEISMIC DESIGN CATEGORY = B

WIND LOADS:

SITE CLASS D
SDS = 0.175
SD1 = 0.072

13

3'
-0

"

(1)2X6 STD
@ ROW 8

F

F

F = MILL ALUMINUM CLOSURE ANGLE

T.O.C. ELEV.
98'-2"

1" GROUT
T.O.C. ELEV.

99'-7 1/2"

1" GROUT

13

5

5

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

SE
C

TIO
N

 V
IE

W
 - 

V
IS

ITO
R

#22462

15

01/31/23 VK DMC

8"
 R

IS
E 

X 
24

" T
RE

A
D

/ 
66

'-0
"/

 (8
 R

O
W

S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

10



SCALE: 3/8' = 1'-0"
SIGHT LINES1

11

1
2

3
4

5
6

7
8

26'-4 13/16"
@ ROW 1

32'-10 15/16"
@ ROW 8

#22462

15

01/31/23 VK DMC

8"
 R

IS
E 

X 
24

" T
RE

A
D

/ 
66

'-0
"/

 (8
 R

O
W

S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

11

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

SI
G

HT
 L

IN
ES

 - 
V

IS
ITO

R



SCALE:3/16"=1'-0"
SEATING LAYOUT - VISITOR1

12

1
10

12'-9" 4'-6" 31'-6" 12'-9"4'-6"

66'-0"

24'-0" 1:12 RAMP 4'
-7

"

12'-0" 1:12 RAMP

5'-1 1/2" RAMP
LANDING 6'-0" PRE-FAB

RAMP

4'
-7

"

A

B

6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0"
1 2 3 4 5 6 7 8 9

6'-0" 6'-0" 6'-0"
10 11 12

12
'-0

"

5'
-1

0"

15'-5 1/2" 56'-11 1/2"

5'
-1

0"

2
12 SCALE:3/16"=1'-0"

FOOTING LAYOUT - VISITOR

14
1

14
3

68'-0"
GRADE BEAM @ "A" & "B" ROW

1'-0"
TYP.

1'-0"
TYP.

6'
-1

"

28'-1"

6'
-1

"

3'-0" 3'-0"

14'-0 1/2" 14'-0 1/2"

5'-8"
TYP.

3'-0"
TYP.

FULL DECK SEAT SUPPORT TYP.

4
15

2
15

T.O.C. ELEV
98'-2"

T.O.C. ELEV
98'-2"

T.O.C. ELEV
99'-7 1/2"

T.O.C. ELEV
99'-7 1/2"

5'-6"

Elev. 100'-0"Elev. 100'-0" Elev. 100'-0"

2
10

#22462

15

01/31/23 VK DMC

8"
 R

IS
E 

X 
24

" T
RE

A
D

/ 
66

'-0
"/

 (8
 R

O
W

S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

12

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

SE
A

TIN
G

/ 
FO

O
TIN

G
 L

A
YO

UT
 - 

V
IS

ITO
R



W10X12 STRINGER (TYP.)

6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0"

1 2 3 4 5 6 7 8 9

L 2X2X3/16"
CROSSBRACING (TYP.)

L 3X3X1/4" COLUMN (TYP.)

L 2X2X3/16"
HORIZONTAL BRACE (TYP.)

SCALE:3/16"=1'-0"
UNDERSTRUCTURE LAYOUT - VISITOR1

13

W10X12 STRINGER (TYP.)

13
2

4
15

25
15

SCALE:3/16"=1'-0"
"B" ROW ELEVATION VIEW - VISITOR2

13

1 2 3 4 5 6 7 8 9
6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0" 6'-0"

10 11 12
6'-0" 6'-0" 6'-0"

2X2X3/16"
CROSSBRACING (TYP.)

6'-0" 6'-0" 6'-0"

10 11 12

A A A B

ROLL OVER ANGLE
(TYP.)

#22462

15

01/31/23 VK DMC

8"
 R

IS
E 

X 
24

" T
RE

A
D

/ 
66

'-0
"/

 (8
 R

O
W

S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

13

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

UN
D

ER
ST

RU
C

TU
RE

/ 
EL

EV
A

TIO
N

 V
IE

W
 - 

V
IS

ITO
R



FOUNDATION NOTES
1. OWNER/OWNERS REP SHALL VERIFY ALL DIMENSIONS PRIOR TO START OF CONSTRUCTION.

REINFORCING STEEL SHALL BE ASTM GRADE 60

CONCRETE SHALL HAVE A MINIMUM COMPRESSIVE STRENGTH OF 3000 PSI. AT 28 DAYS

ALLOWABLE SOIL BEARING CAPACITY =

THE CONCRETE FOUNDATION CONTRACTOR IS RESPONSIBLE FOR NON SHRINK GROUTING.

ALL UNDERGROUND UTILITIES ARE TO BE LOCATED AND MARKED DURING THE REVIEW
PROCESS BY THE OWNERS REPRESENTATIVE PRIOR TO FOUNDATION EXCAVATION.

STEEL IS FABRICATED FOR TOLERANCE OF 1" GROUT TO BE INSTALLED BY OTHERS AFTER PLACEMENT OF STEEL.

2.

3.

4.

5.

6.

7.

2,000 PSF (ASSUMED)

NOT TO SCALE
GRADE BEAM DETAIL

13A
1

1'-2"

3'
-0

"2#4
EACH FACE

3" C
LR

.
2" C
LR

.

2#6 TOP & BOTTOM
#3@12"O.C.

1 1/2"
CLR.

2" C
LR

.

1 1/2"
CLR.

2#4
EACH FACE

1'-0"

3'
-0

"2#6 TOP & BOTTOM
#3@12"O.C.

A
12'-0"

B

4"

CONCRETE EXIT & RAMP PAD
VARIES-SEE FOOTING LAYOUT FOR DIMENSIONS

#4 @ 18" O.C. EACH WAY OR
WWF 6X6-W2.9XW2.9

TOP OF CONCRETE PAD
ELEV. 100'-0"

MINIMUM EXIT PAD DETAIL
NOT TO SCALE

EXIT PADS TO BE FLAT AND LEVEL

2
13A

"C
" "D

"

"B
"

"A"

A B C D

TOP OF
CONCRETE

3/4" 3" 9" 12"THREADED ROD

NOT TO SCALE
TREADED ROD DETAIL

13A
3

T.O.C ELEV. 99'-7 1/2"

T.O.C ELEV. 98'-2"

#22462

15

01/31/23 VK DMC

8"
 R

IS
E 

X 
24

" T
RE

A
D

/ 
66

'-0
"/

 (8
 R

O
W

S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

13A

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

G
RA

D
E 

BE
A

M
 D

ET
A

IL
 - 

V
IS

ITO
R



3'-9 3/16"

4'-3 3/8" (CLEAR)
4'-7"

36
"

C7X9.8 (TYP)

ALUM. TREAD
PLANK (TYP)

L3X3X1/4 GALV.
RAIL RISER (TYP)

ANODIZED ALUM.
HANDRAIL (TYP)

42
"

L2X1 1/2X3/16
PLANK CLIP (TYP)

5'-10"

L3X3X1/4 TREAD

42
"

V
A

RI
ES

3'-9 3/16"

4'-3 3/8" (CLEAR)
4'-7"

ANOD. ALUM.
HANDRAIL (TYP)

36
"

L3X3X1/4 GALV.
RAIL RISER (TYP)
2 X 4 1/2 ALUM.
TOEBOARD (TYP)
ALUM. TREAD
PLANK (TYP)

EXIT SECTION
14
4

SCALE: 1/2"=1'-0"

RAMP SECTION
14
2

SCALE: 1/2"=1'-0"

SCALE: 1/2"=1'-0"
EXIT DETAIL

14
3

SCALE:1/2"=1'-0"
RAMP DETAIL

14
1

6'-4"

3'
-0

"

3'
-6

"

ANODIZED ALUMINUM
HANDRAIL

3'
-6

"
3'

-6
"

1'-0" 5'-1 1/2"
LANDING

12 1/2"8"

3'
-0

"

ELEV. 100'-0"

14
2

24'-0" 18'-0"

L2X2X3/16
BRACING (TYP)

C7X9.8
STEP RISER (TYP)

2X12SN WITH
CONTRASTING AISLE

NOSING (TYP)
ELEV. 100'-0"

ALUMINUM
HANDRAIL

3'
-6

"
6 

RI
SE

S 
@

 7
"

3'
-6

"

5'-6"
6 TREADS @ 11"

1'-0"

3'
-6

"

3'
-0

"

6'-4"

14
4

#22462

15

01/31/23 VK DMC

8"
 R

IS
E 

X 
24

" T
RE

A
D

/ 
66

'-0
"/

 (8
 R

O
W

S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

14

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

RA
M

P 
D

ET
A

IL
 S

HE
ET

 - 
V

IS
ITO

R



NOT TO SCALE
PLANK INSTALLATION DETAIL7

NOT TO SCALE
JOINT SLEEVE INSTALLATION DETAIL8

NOT TO SCALE
TONGUE & GROOVE JOINT SLEEVE INSTALLATION21

NOT TO SCALE
RISER JOINT SLEEVE INSTALLATION9

NOT TO SCALE
END CAP INSTALLATION DETAIL10

NOT TO SCALE
ANGLE FAB DETAIL3

NOT TO SCALE
ATTACHMENT DETAIL12
FRONT RAIL RISER

NOT TO SCALE
RAIL RISER ATTACHMENT DETAIL14

NOT TO SCALE
SIDE RAIL RISER ATTACHMENT DETAIL13

NOT TO SCALE
TENSION BAR CLAMP DETAIL15

NOT TO SCALE
SIGHT LINE PARAMETERS17

NOT TO SCALE
LOWER PART/STEP FRAME DETAIL23

NOT TO SCALE
STEP RISERS @ BOTTOM OF EXIT STEPS22

1/2"X3 3/4" CONCRETE
WEDGE ANCHOR (TYP)

HEX HEAD TEK #3 12X14X1
(5) EVENLY SPACED

CONTRASTING AISLE
NOSING (TYP)

STEP RISER CUT TO FIT

STEP RISER (TYP)

2X12 STEP NOSE
PLANK (TYP)

L2X2X1/8

L2X2X1/83/8"X3" CONCRETE
WEDGE ANCHOR

HEX HEAD TEK #3 12X14X1
(5) EVENLY SPACED 3/8"X3" CONCRETE

WEDGE ANCHOR

5/16" X 1" CARRIAGE SCREW
(MECH. GALV.)

ALUMINUM PLANK

MILL ALUMINUM
HOLD DOWN CLIP (TYP)

SEAT OR TREAD
ANGLE (TYP)

5/16" FLANGE NUT
(MECH. GALV.)

1. INSERT THE TWIN JOINT SLEEVES
APPROXIMATELY HALFWAY INTO THE
PLANK, STAGGERED 1/2"±.
ANCHOR WITH HARDWARE PROVIDED.

2. SLIDE THE END OF THE NEXT PLANK OVER THE TWIN JOINT SLEEVES
UNTIL THE PLANKS ARE SNUG AGAINST EACH OTHER. DO NOT
ANCHOR THIS PLANK TO THE TWIN JOINT SLEEVES.

JOINT SLEEVE (TYP)

1. INSERT THE TWIN JOINT SLEEVES
APPROXIMATELY HALFWAY INTO THE
PLANK, STAGGERED 1/2"±.
ANCHOR WITH HARDWARE PROVIDED.

2. SLIDE THE END OF THE NEXT PLANK OVER THE TWIN JOINT SLEEVES
UNTIL THE PLANKS ARE SNUG AGAINST EACH OTHER. DO NOT
ANCHOR THIS PLANK TO THE TWIN JOINT SLEEVES.

1. INSERT THE JOINT SLEEVE
APPROX. HALFWAY INTO THE PLANK,
ANCHOR WITH HARDWARE PROVIDED.

2. SLIDE THE END OF THE NEXT PLANK OVER THE JOINT SLEEVE
UNTIL THE PLANKS ARE SNUG AGAINST EACH OTHER. DO NOT
ANCHOR THIS PLANK TO THE JOINT SLEEVE.

1. LOCATE THE END CAP AS SHOWN.
(WITH WIDEST FLANGE ON BOTTOM
FOR CHANNEL E.C., AND NARROW FLANGE ON
TOP FOR ANGLE E.C.)

2. MECHANICALLY FASTEN THROUGH BOTTOM FLANGE
OF CHANNEL E.C., AND TOP FLANGE OF ANGLE E.C.
(CHANNEL E.C. SHOULD BE TAPPED INTO PLACE
WITH A RUBBER MALLET AS NECESSARY)

1 
1/

2"

4"
3/

4"

RAIL RISER (TYP)

3/8" X 1 1/4"
CARRIAGE SCREW

W/NUT & LOCK
WASHER (TYP)

1 5/8" O.D.  RAIL
GALV. RAIL CLAMP (TYP)

ANGLE FABRICATION
(TYP @ ENDS OF STAND)

FENCE
5/8 X 4 ALL THREAD

BOLT W/(3) NUTS
FOR PROPER ALIGNMENT

OF RAIL RISERS (TYP)

STRINGER

L2 1/2 X 2 X 3/16
CLIP WELDED TO

STRINGER FOR ATTACHMENT
OF RAIL RISERS (TYP)

5/8 X 1 3/4
BOLT & NUT (TYP)

SIDE RAIL RISER
(TYP. @ ENDS OF STAND)

1"

6"

3 
1/

2"

MIG 4A
(PP)

0
3/16"

V
A

RI
ES

 W
ITH

 R
IS

E

MIG 4A
(PP)3/16"

3/16" MIG 1A
(PP)3/16"

1 5/8" O.D. RAIL
W/RAIL CLAMP (TYP)

3/8" X 1 1/4" CARRIAGE BOLT

3"

1"

3/4"3 1/2"1/8"

1 1/2"

4 3/8"

SIDE FENCE TO BACK FENCE
TRANSITION RAIL RISER ANGLE
@ REAR & ENDS OF BLEACHER (TYP)

3/8" X 1 1/4" CARRIAGE
SCREW W/NUT & LOCK

WASHER (TYP)

4 3/8" X 1" X 1/8"
TENSION BAR CLAMP (TYP)

FENCE

FENCE

9/16" X 3/16" X REQ'D.
LENGTH TENSION BAR (TYP)

4 3/8" X 1" X 1/8" TENSION
BAR CLAMP (TYP)
SIDE FENCE TO BACK
FENCE TRANSITION RAIL
RISER ANGLE @ REAR & ENDS
OF BLEACHER (TYP)

3/8" X 1 1/4" CARRIAGE
SCREW W/NUT & LOCK
WASHER (TYP)

FENCE

9/16" X 3/16" X REQ'D.
LENGTH TENSION BAR (TYP)

4 3/8" X 1" X 1/8" TENSION
BAR CLAMP (TYP)

SECTION "A-A"

"A""A"

POSITION AFTER
TIGHTENING BOLT

POSITION BEFORE
TIGHTENING BOLT

ELEVATION VIEW

4'
-0

"

2'-9"1'-7"2'-5"

4'-0"

3 
5/

8"

4'
-0

"

6'
-0

"

3 
5/

8"

4 5/16"

2"
4 

1/
2"

2"

11"

L3 X 2 X 3/16 @ 3"
LONG w/1-11/16"Ø HOLE

1/2" X 3 3/4"
WEDGE ANCHOR (TYP)

6 1/4"2 11/32"

1 9/16"

1'-0 1/2"
1 1/8"

2" COPE

C7X9.8

L2 X 2 X 3/16
w/2-11/16"Ø HOLES
(TYP. ALL STEP RAIL RISER CLIPS)
7/16" HOLES FOR ATTACHMENT
OF STEP PLANK CLIP (TYP)

2 9
/1

6"
2 9

/1
6"

4"

2"

9 
1/

8"MIG 2A
3/16"

(PP)

MIG 1A
3/16"

(PP)

3/16"
MIG 1A

(PP)

STRINGER

3/16"
MIG 1A

(PP)

3/16"
MIG 1A

(PP)

NOT TO SCALE
MID-SPAN SUPPORT DETAIL18

NOT TO SCALE
MID-SPAN SUPPORT DETAIL19

5/16" X 1" CARRIAGE SCREW (TYP)
(MECH. GALV.)
HOLD DOWN CLIP (TYP)
5/16" FLANGE NUT (TYP)
(MECH. GALV.)
L 1 1/2 X 1 1/2 X 3/16 ALUMINUM
ALUMINUM RISER BOARD

6'-0"

VARIES VARIES

SEAT OVERHANG
BRACKET (TYP)

BRACKET IS USED WHEN SEAT
OVERHANG EXCEEDS 1'-6"

5/16" X 1" CARRIAGE SCREW (TYP)
(MECH. GALV.)
HOLD DOWN CLIP (TYP)
5/16" FLANGE NUT (TYP)
(MECH. GALV.)
L 1 1/2 X 1 1/2 X 3/16 ALUMINUM
ALUMINUM RISER BOARD

NOTE:MID-SPAN SUPPORTS
PROVIDED AT ALL SINGLE
SPAN PLANK LOCATIONS

6'-0"

EQUAL EQUAL

MID-SPAN
SUPPORT (TYP)

NOT TO SCALE
FENCE ATTACHMENT DETAIL16

GALV. RAIL CLAMP (TYP)
SIDE RAIL RISER (TYP)

1 5/8" O.D. RAIL

GALV. TENSION BAR CLAMP (TYP)

GALV. TENSION BAR (TYP)

GALV. BACK RAIL RISER (TYP)

GALV. RAIL CLAMP (TYP)

5/8" X 4" BOLT W/3 NUTS FOR
ALIGNMENT OF RISER (TYP)

5/8" X 1 3/4"
STRUCTURAL BOLT (TYP)

3"
8"

1"

STRINGER

CLIP WELDED TO
WEB OF STRINGER

3/16"

5/8" X 1 3/4"
STRUCT. BOLT (TYP)

3/16" MIG 3A
(PP)

0

ALUMINUM
RISER (TYP)

RAIL RISER (TYP)

NOT TO SCALE
EXIT STEP HANDRAIL TERMINATION DETAIL24

3
2

3

2

6" RISE X 11" TREAD

3
2

3

2

VIEW "A-A" VIEW "C-C"

VIEW "B-B" VIEW "D-D"7" RISE X 11" TREAD

"A"

"B"

"B"
"A"

"C"

"D"

"D"
"C"

12" 12"

NOT TO SCALE
HANDRAIL ATTACHMENT DETAIL11

"A"

"A"

2 PIECE CONTRASTING AISLE
NOSING AT HANDRAIL CONNECTION
(AISLE WIDTH / 2 - 2.625")

MID-AISLE HANDRAIL (TYP)

3/8"X1" CAP SCREW
w/KL NUT & FLAT
WASHER PIPE MOUNT
(SBC-X23694-H)

3/8" DRIVE RIVET
2 BOLT FLOOR FLANGE

SECTION "A-A"

5 1/4"

MID-AISLE
HANDRAIL (TYP)

3/8"X1" CAP SCREW
w/KL NUT & FLAT WASHER

PIPE MOUNT (SBC-X23694-H)

2 PIECE CONTRASTING AISLE
NOSING AT HANDRAIL CONNECTION

(AISLE WIDTH / 2 - 2.625")

2"
6"

1"

3"

RAIL RISER AND ANGLE
PUNCHED w/11/16"Ø
HOLES FOR 5/8"Ø BOLTS

3/16"
MIG 1A

(PP)

ALUMINUM PLANKING

3/16"
MIG 3A

(PP)

0

NOT TO SCALE
ROW "A" VERT. ATTACH. DETAIL1

15

6" 2"2"
10"

6"
1"

1"
8"

W10X12
GUSSET

(4)-11/16"Ø HOLES

3/16"

8X10X3/8 PLATE
SECTION "A-A"

MIG 1A 3/16"

6" 2"2"
10"

"A" "A"

W10X12 VERTICAL

8X10X3/8 PLATE

5/8 X 1 3/4
BOLT & NUT (TYP)

NOT TO SCALE
ROW "A" BASE PLATE ATTACH. DETAIL2

5" 5"

10"

5"
1 

1/
2"

1 
1/

2"

8"

(2) HOLES FOR
(2)-3/4"Ø ANCHOR BOLTS

8"X10"X3/8"
BASE PLATE

W10X12 VERTICAL

MIG 1A 3/16"

(PP)

NOT TO SCALE
BASE PLATE ATTACHMENT DETAIL4

3"
3"

6"

6"

3" 3"

(1) HOLES FOR
(1)-3/4"Ø ANCHOR BOLT

MIG 1A 3/16"

(PP)

6"X6"X3/8" BASE PLATEVERTICAL ANGLE
SUPPORT (TYP)

NOT TO SCALE
CROSSBRACING ELEVATION DETAIL25

6'-0" O.C. (TYP)

L2X2X3/16 HORIZONTAL BRACE
CONTINUOUS THROUGH ALL BAYS

3X8X3/8 PLATE w/2-11/16Ø
HOLES @ 6" O.C. (TYP)

CROSSBRACING WILL BE @
ALTERNATING BAYS

5/8 X 1 3/4" BOLTS
THIS LOCATION (TYP)

5/8 X 2 1/2" BOLTS
THIS LOCATION (TYP)

EQ
UA

L
2"

2"
EQ

UA
L

VERTICAL ANGLE
SUPPORT (TYP)

5/8 X 1 3/4" BOLTS
THIS LOCATION (TYP)

L2X2X3/16 CROSSBRACING
@ ALTERNATE BAYS (TYP)

CROSSBRACING WILL BE @
ALTERNATING BAYS

L2X2X3/16 HORIZONTAL BRACE
@ BRACED BAYS

5/8 X 1 3/4" BOLTS
THIS LOCATION (TYP)

6X6X3/8 PLATE w/1 HOLE
CENTERED (TYP)

L2X2X3/16 CROSSBRACING
@ ALTERNATE BAYS (TYP)

VERTICAL ANGLE
SUPPORT (TYP)

NOT TO SCALE
TO STRINGER DETAIL20

1/4" GUSSET PLATE
(TYP ONE SIDE OF

STRINGER ONLY)
STRINGER

MIG 2A
3/16"

(PP)

(2) 5/8" X 1 3/4" BOLTS
IN 6" PATTERN

L2X2X3/16 HORZ.
BRACE (TYP)

L2X2X3/16
BRACING (TYP)

3/16"
MIG 2A

(PP)

3/16"X8" X REQD.
STRINGER CLIP

(PP)
MIG 4A

1/4"
0

VERTICAL ANGLE
SUPPORT (TYP)

TYPICAL COLUMN

NOT TO SCALE
TOP PLATE ATTACHMENT DETAIL5

3"X8"X3/8" TOP PLATE
VERTICAL ANGLE SUPPORT (TYP)

1 
1/

2"
1 

1/
2"

3"

1" 6" 1"

8"

(2)-11/16"Ø HOLES FOR
(2)-5/8"Ø BOLTS

MIG 1A 3/16"

(PP)

NOT TO SCALE
STRINGER CLIP DETAIL6

8" (TYPICAL)
6" (TYPICAL

1"

1"

1 1/2"
1 1/2"

3"

VA
RI

ES
W

ITH
 R

ISE

NOTES:
1. (2)-11/16"Ø HOLES
2. 3/16" PLATE

15

15
15

15

15

15 15 15 15 15 15

15 15 15 15 15

15 15

15

15

15 15

15 15

#22462

15

01/31/23 VK DMC

8"
 R

IS
E 

X 
24

" T
RE

A
D

/ 
66

'-0
"/

 (8
 R

O
W

S)

SA
LE

M
 C

ITY
 S

C
HO

O
L 

D
IS

TR
IC

T
HO

M
E 

&
 V

IS
ITO

R 
BL

EA
C

HE
RS

SA
LE

M
, N

EW
 J

ER
SE

Y

15

DRAWN

SHEET

JOB NUMBER

BY

DATE

RE
V

DE
SC

RIP
TIO

N
DA

TE

OF

CHECKED

TY
PE

TIT
LE

Fa
x: 

94
0/

54
9-

13
65

80
1 

Fi
fth

 S
tre

et
.

PO
 B

ox
 O

ne
, G

ra
ha

m
, T

ex
as

 7
64

50

E
st

ab
lis

he
d 

19
46

Ph
on

e:
 9

40
/5

49
-0

73
3 

G
R

A
N

D
ST

A
N

D
S 

  B
L

E
A

C
H

E
R

S 
  S

T
A

D
IU

M
S

BL
EA

CH
ER

 C
O

M
PA

N
Y

R

1
D

ET
A

IL
 N

UM
BE

R

22
" X

 3
4"

 (1
1x

17
 =

 1
/2

 in
d

ic
at

ed
 sc

al
e)

1
SH

EE
T 

N
UM

BE
R

50
0 

M
A

IN
 S

T
R

E
E

T
, S

U
IT

E
 7

00
   

 F
O

R
T

 W
O

R
T

H
, T

E
X

A
S 

76
10

2
ST

R
U

C
T

U
R

A
L

 E
N

G
IN

E
E

R
S

L
IC

E
N

SE
D

 I
N

 4
5 

ST
A

T
E

S
ts

ad
le

r@
sw

be
ll.

ne
t

(8
00

) 
90

0-
73

73
(8

17
) 

33
8-

03
35

(8
17

) 
33

2-
10

74
Ph

:

E
m

ai
l:

T
ol

l:
Fa

x:

TH
IS

 D
RA

W
IN

G
 A

N
D

 A
LL

 IN
FO

RM
A

TIO
N

 T
HE

RE
IN

IS 
TH

E 
PR

O
PE

RT
Y 

O
F 

SA
D

LE
R 

G
RO

UP
 A

N
D

 S
O

UT
-

H
ER

N
 B

LE
A

C
H

ER
 C

O
M

PA
N

Y.
 IT

 M
A

Y 
N

O
T 

BE
C

O
PI

ED
 O

R 
RE

PR
O

DU
C

ED
 W

ITH
O

UT
 P

RI
O

R 
W

RI
TT

EN
C

O
NS

EN
T O

F 
BO

TH
 S

AD
LE

R 
G

RO
UP

 A
ND

 S
O

UT
HE

RN
BL

EA
C

HE
R 

C
O

M
PA

NY
. T

HE
 D

RA
W

IN
G

 IS
 LO

AN
ED

D
RA

W
IN

G
 IS

 P
RO

TE
C

TE
D

 U
N

D
ER

 U
.S

. A
N

D
 IN

TE
R-

N
A

TI
O

N
A

L 
C

O
PY

RI
G

H
T 

LA
W

.

A
N

D
 S

UB
JE

C
T T

O
 R

ET
UR

N
 U

PO
N

 D
EM

A
N

D
.

02/03/23

41571

ST
ATE  OF  NEW  JERSEY

PROF ESS I ONA L  ENG I N
EERL I CENSED

No. TH
OM

AS  R .  SADLER

D
ET

A
IL

 S
HE

ET
 - 

V
IS

ITO
R


	Bleacher Dwgs.pdf
	Sheets and Views
	22462 - Salem, NJ-COVER
	22462 - Salem, NJ-(1)
	22462 - Salem, NJ-(2)
	22462 - Salem, NJ-(3)
	22462 - Salem, NJ-(4)
	22462 - Salem, NJ-(5)
	22462 - Salem, NJ-(5A)
	22462 - Salem, NJ-(6)
	22462 - Salem, NJ-(7)
	22462 - Salem, NJ-(8)
	22462 - Salem, NJ-(9)
	22462 - Salem, NJ-(10)
	22462 - Salem, NJ-(11)
	22462 - Salem, NJ-(12)
	22462 - Salem, NJ-(13)
	22462 - Salem, NJ-(13A)
	22462 - Salem, NJ-(14)
	22462 - Salem, NJ-(15)



